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Phys 221 (Section 6)
Quiz #6

L. A trumpet player in an open automobile plays a note of frequency 392 Hz on his
horn. A stationary chserver directly ahead of the auto hears a note of frequency
140 Iz, What is the speed of the automobile?
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2. What mass of lle (Helium) gas is contained in a volume of 0.3 m? at a pressure
of 2.0 atm and a temperature of 20.0°C? (Take Ile to be an ideal gas))
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3. How much heal is required to convert 3.0 g of ice at 0.0°C to water at 25.0°C7
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Water (Hal)):  Lpyy = 3.33 x 10°
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